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402 2I2H X201 M 450,000 350,000 100,000
01 RIZEAt =22 X 450,000 350,000 100,000
OFXNRXIG oldE2x3 K& 450,000
HE2LSZH (FME D) 28,324 31,392 A 3,068
JlE &3l 28,324 31,392 A 3,068
JlE&l 28,324 31,392 A 3,068
201 LB-2d| 22,684 25,672 A2,988
01 At 22l 20,184 23,172 N2,988
ORN2Y Jl=ZHl 250,000& = 12& 3,000
OMREE FL(SMA S) 200,0008 * 128 2,400
OHEARII A2EF7Y
300,000& = 604 = 23l 3,600
Odza=x) gz 50,000& = 1CH = 123 600
O=2gtl 7,000 * 18 + 72 « 123 10,584
02 =524l 2,500 2,500 0
ORERS 2,500
202 o4dl 1,440 1,520 A 80
01 = LH o4 1l 1,440 1,520 A 80




2N

M HE2GAU(IME )
chelr D123l (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OoHlaZ2 2ol 1,440
203 R F=&H| 4,200 4,200 0
04 RFN2IEHSFAH 4,200 4,200 0
ORA2EIRFAHI 350,000& = 12& 4,200
EdXE 700,000 0 700,000
RSN 700,000 0 700,000
SBHXE 700,000 0 700,000
701 JIEISI AN E S 700,000 0 700,000
01 JIEtl AN ES 700,000 0 700,000
Os3HX=x=d & 22 SE3H d&53 700,000




